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Q.1 In a certain code language, "AIR" is written as "BJS"
How is "DUB" written in that code language? / Uch fafore
hig 9THT W, "AIR" &l "BJS" TT@T AATAT 8] 9 IS AT H
"DUB" <t forT TR feraT SAmoem?

A)EVC B)EVD
C)CVC D)EWC



LIVE-QUZ

Q.2 If a mirror is placed on the line AB, then which of the answer figures is the
image of the given figure? / Ife Teh GUUT shl AB W&T W T@T WG, df &F T8 I
HATHIAAT | | I T STTR T T TR hl TG TfTervaT gHIT?
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7 /850N

l l\
-' -

A = —'
S=\e :
\ >

39 I SATHA Sl AT FTaH T4 ATHR{a a3 (/\




o Q.4 Friw: 38 ufiry, St e i frsredt & frT BUDIRECTIONS:

Find the odd pair from the given alternatives.

A) TTA/Mars B) 'Flc\ﬁ‘/Sun

C) 3T/Saturn D) TeT/Mercury



Q.5 In the following question, select the number which can be placed at |
the sign of question mark (?) from the given alternatives. / IEL= I GIEC)
T 7 13 7Y faremedt # € O 19+ (?) o €ATH WX 3T et HEAT i Y

. —
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Q.6 Select the related word/letter/number from the given alternatives.

/ 35U T foreheat # & Tt STeg/eR/aEdT i 9T

GLIDERS : ERSDGLI : : TOASTER : ?

A) TERSTAO B) TESRTOA
C) TERSTOA D) TERRTOA



[ LIVE-QUIZ |

Q.7 3T|7=|co'ﬁl‘ ABCD ¥ fera a3 82/ How many rectangles are
there in the figure ABCD ?

(2)9 (b) 12
(©) 11 (d)10



Q.8 In a compass, west direction is shown as South. As per the compass, |

which direction should a man go to, if he wishes to move towards the east? /

Teh hraTd W, i favr gfarr & wu # foem w1 31 uew st afe g fewm
TR ST ATEAT § A7 BT o FTAR, 39 Torer faomm 7 wam =nize?

(&)

A) North / ST B) South / gferor
C) East / tlﬁ D) West / aiyw



Q9 S fu 7wu fTweut ¥ ¥ wrEfa  vea/sTeri/AEar &l
T*:lg'f'El'Ql/DIRECTIONS: Select the related letters/word/number from the

given alternatives.
FAIWTEAAT : TeAdl : : ATUETR ;2

/Inexperience : Mistake : : Carelessness : ?

A) 'gEiZ‘-IT/Accident
B) U@/ Transportation
C) ATHETRISRAT/Gainfulness

D) ¥%edT/Successful



Q.10 If "oL" denotes "subtracted from", "B" denotes "multiplied by",
"0" denotes "added to" and "O" denotes "divided by", then 10 © 8
468 009="7/afg "a" T I "HE" ¥, "B T o7 UM 7, "O" w1
el "I T AAT O HT A "W E, W1008B 4658 a9="7




|
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Q.11 Tt TF TeR-IEET o WTet! TATT WX shH ¥ W W FAmferiaa # & &
|l A "Hg L qu T2 /Which one set of letters when sequentially
placed at the gaps in the given letter series shall complete it ?

KLM ,KL N,K MN, LMN

A)NMLK  B) KLMN
C)LKNM D) KLNM



LIVE-QUZ |
Q.12 THGIT: 38 T AT TTHH i U HN
7, 43, 81, 131, ? .

A)300  B)193
C)375  D)468
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Q.13 Some small cubes each having one inch edge are kept together to form™=
solid cube of three inch edge. All the sides of this big cube are painted red from

outside. When the big cube is split into original small cubes, how many cubes will

have two surfaces painted? /S Ueh §o fohA ATt TR h HS BIC AT Al Teh
3 A 39 ThI 1T O ST ok ToTU Ueh AT T 4T 36 S O ahil ST8T 89 3T
| AT T TN TS 9 O T A6l SIS O § Wiga foRAT 14T, at Toha- o1 & &
TeTeh O g2
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- Q.14 A series is given with one term missing. Select the correct alternative
the given ones that will complete the series. / Tch AJhH oo T 7, ™ew 9 U
U N 3| T30 7T {Srehcat § & 9 WaT forshed AT, ST ATHH ol O 6|

LOR, PSV, TWwz, ?

A)YBE B)XAD
C)XAB D) YBD
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the odd pair from the given alternatives.

A) T S{eT/ Energy : Joule
B)?:b'l'ﬁ‘ : 3T/ Work : Joule

C) IR : kgl / Current : Wood
D) TTaXrer : 3T / Resistance : Ohm



W 16BET=T A, B, C, D, E 79T F 0 4R6 & @2 31 B, F 3R D % e 1 31 E, o
INCHATHE ATATF o A1 ©ST § AR T & D o @reNl C, D o {1 &
'@I??T%l Faﬁ‘i%ﬁn@ﬁﬁ@r%mﬁaaﬁaﬁ%? /Six children A, B, C, D, E and

F are standing in a row. B is between F and D. E is between A and C. A does

[ LIVE-QUIZ J

not stand next to either F or D. C does not stand next to D. F is between which

of the following pairs of children?

A) B 3D
C) B 3R E




[ LIVE-QUZ ]

Q.17 FifeRa 31'@&[ 'ﬁ"ﬁlﬁﬁ‘ﬁrﬂﬁ%‘?/ How many of triangles are in the following

figure?

(a) 35 (b) 36
(¢) 30 (d) More than 36/36 ® 3Tt
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Q.18 If& COMMUNICATIONS W Ugel R F&Y, d@Y IR =i, uTerd 3R B qT
THT TR 31T 3T ehi TE Fge ST STY, aY 31U+ STU | TTUET hid U SEaT 378
HiI-AT BAM?/ If the first and-second letters in the word ‘COMMUNICATIONS’
were interchanged, also the third and the fourth letters, the Sth and 6th letters and

A)U B)A
C)T D)N



19 Introducing Karan, a man says, '""He is the husband of the granddaughter

of my maternal grandmother'. How is Karan related to that man? / <hIUT <hT

U= A §C Ueh SAT<h hagdT 8, "3, A AT Rl Grdl/ATie o aid 8"'| av st
30 Atk o HY grafera 32 |

A) Grandfather / TTqT

B) Brother-in-law /EI%'-ﬁ'é‘/H'ITflT
C) Maternal grandfather / qATAT

D) Father / fuar



3
(7 )
a ‘:’I i i é £
% gy
& 4 [ uw mz ] “'&,:.:oqr’b
4 ot

Q20 BT AMA,B,C,D,E R FIGEARAHNTARE C,BF AN D, AF TS
foRvd C & AT §1 E, A & UTS &, TR D & 3T 1 F, A o W 8| 999 U1D T 9 &I
22/ Six persons A, B, C, D, E and F are walking in a line. C is ahead of B. D is
behind A, but ahead of C. E is behind A, but ahead of D. F is ahead of A. Who is

walking on the extreme back ?
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Q.21 &hYA:/ Statement:
e thed, o™t 21/ Some fruits are vegetables.
e e, Wt 21/ Some flowers are fruits.
fsR9/ Conclusions :
I. WW%%I/ Some vegetables are flowers.
IL. Elﬁ'sgt!:?'f, st TET 81/ No flower is vegetable.

A) haet (sRY I feRetat g1/ Only conclusion I follows.
B) ehael Ty [1 Heretat 81/0nly conclusion IT follows.
C) feeRe I 3T 11 2T fHehetd 21/ Both conclusion I and II follow.

D) 3‘—I‘ﬁ‘ ) ﬁ'é &1/ None of these
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[ LVE-QUZ ]

Q.22 C' o [Tudia |dag U shIA-AT 378X BOM?/ Which letter will be on the

opposite surface of 'C'?

A)B B)D
C)E D)BorD/BATD



[ LVE-QUZ ]

Q.23 < % U rTeRfaat # fa@my Wwaﬁﬁw%ﬁw@ﬂﬁ%m
g forer SR 31'@7% ST feEmE & 2/ A piece of paper is folded and punched as

shown below in the question figures. From the given answer figure, indicate how

it will appear when opened ? ( >
. l_|
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Q.24 Select the odd word from the given alternatives./feU T forehedat W &
foram vreg R g

A) Book /9&ds%k  B) Tyre / 2T
C) Bangle /&M D) Compact disk / STvere TStk



Q.25 feu U foeheat W & HeElad Ter/ITes/ W&AT ATd hITSU)/

Find out the letters / words / numbers related to the given
options.

HILD : SROW : : MIXED : ?

A) MRCVW B) MRCUW
C) NVRCID D) NRCVW
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Q26T A+BHTAAT'A, BRI AR, Ax BHI AU R 'A, BHTUA &' 3R
A-BHRTIATZ'A, BHET T2, AP x Q — S HT 374 22/ If A + B means A
is the daughter of B, A x B means A is the son of B and A — B means A is

the wife of B then P x Q — S means?

A)S, P AT TUaT 21/S is the father of P.
B) Q, P <k fudar 21/Q is the father of P.
O)AQ W‘EI}[%I/A is the son of Q.
1)) ﬁﬁﬁﬁ?qﬁ/None of these
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Q.27 Ueh TIEeh <hT 3T 9T T T HIAT kgl 2, “agﬁ%aaﬁa?rgaw—ﬁﬁ
HATT T FheAT U 2| Tg TSHT HAT A ohE TR Tt 72/ Pointing
towards a boy, Meena said, "He is the only son of the only child of my

paternal grandfather. '""How is that boy related to Meena ?

A) T A8/ Cousin  B) A=/ Uncle
C) 984/ Sister D) WIS/ Brother
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Q.28 FIND THE MISSING NUMBER ?
oH AT 582

(A) 72
(B) 36
(C) 54
(D) 18
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Q.29 FIND THE MISSING NUMBER ?
oH AT 582




{ LVE-QUIZ ]

Q.30 fAfaT 49 fremeffat § 18 ST TATH UTCT HIAT Bl 3T & IHHRT
TATT T 82/ Nitin ranks eighteenth in a class of 49 students.
What is his rank from the last?
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